S
2] (2) (1)& b, APBCco APNM 72735,
BP : PN =BC : MN

hAEAEEI L ), MN=—2BC 755,

BC:MN=2:1, &ko7T, BP:PN=2:1
(2) PQ# CA, PR/#/ DB 7#5, CALDB T
hiE, 2QPR=90° 2% 2,
[4] (1) AACG T, DF#CG, AD=CD k9,
AF =FG
ABEF ¢, CG#EF, BC=CE &9,
BG = FG
5T, AF=FG=GB 25,

R oS G
FG—BAB—gxM 4

(2) AACG T, HREFMEHLIDY, CG=2DF
ABEF ¢, HmifE# k), EF =2CG
LT, EF =2x2DF = 4DF
DE = EF—DF = 4DF—DF = 3DF

5] (1) AABC T, HhilfieEslyy,
DE-#BE,; - BE =2DE
FB = 2BC = 2x2DE = 4DE
DE # BC £ 9, ADGE < ABGF 7245,
DG:GB=DE:FB=DE:4DE=1:4

(2) (1Xh, GB=4DG
DB = DG+GB = DG+4DG = 5DG
AD=DB=35DG
AG= AD+DG=5DG+DG = 6DG
o7, AG:GB=6DG:4DG=3:2

20 18O °

s EfRE

=p.126~p.129

BEE1 (1) z=8 (2) =5 (3 =10
MigE2 6:1

RiEE3 (1) 2:1 (2) AE-._%%‘ BH-~%1%

(3) 9:4
BIEE4 (1) 1:2 (20 2:3 (3 2:9
BfES5 (1) 4:7 (2) 4:11
RIEE6 £ 6.7 m(XITEHE)
ROgE7 (1) 5:4 (2) (-1, 6)
fEEg (1) =7, y=12 (2) =8, y=14
(3) x=4, y=2
BIEE9 (1) 2:1 (2) 121%
o L ]
REE1 (1) AB:AC=BD:DC X9, 15:12=10:x
5:4=10:x, S5x =40
(2) 10:14=x:(12—x), 5:7==z.(12—x)
Tr=>5(12—x), 7x = 60—5x
(3) 12:8=(x—4):4, 3:2=(x—4):4
2x—4)=12, 2xr—8=12
HRE2 LoMoLHIC, E A
D CD T % 0
UE, ABLOXAEGE -
5, AADC T, F
AG:GD=AE:EC=231 2 C
GD:AD=1:(2+1)=1:3%D, GD=-5AD

¥72, AD:DB=1:2%kb, DB=2AD
£ T, ABEG T,

BF:FE:BD:DGZZAD:%ADZGZI

RIRE3 (1) AAFDo AHFC X9,
AD:CH=DF:FC=2:1
(2) AE:AD=2:(2+1)=2:3XD,

_2
AE=-2 AD
(XD CH:%AD, F7:, BC=AD 755,

BH =BC+CH=AD - AD =3 AD
(3) ABGHw AEGA L9,

BG:GE:BH:AE:%AD:%AD:9:4

fBRE4 (1) AAEC: AEDC=AE:ED=2:4=1.2
(2) AADC: AABC=DC:BC=4:(24+4)=2.3
(3) (1)xbh, AAEC: AADC=1:(1+2)=1:3




